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47. (3 X 10%)(1.5 X 1073) = 3(1.5) X (10%)(107?)

h

48. (6.1 X 107%)(8 X 10”%) = 6.1(8) X (1073)(107)
= 48.8 X 1073+9
= 4.88 X 10! X 10°
= 4.88 X 101+6
= 4.88 X 107
The product is 4.88 X 107, or 48,800.000.

(1.6 X105 1.6 7 10°
=4 X 10773
=4 X 102
The quotient is 4 X 102, or 400.

6.4 % 107 _ 64 _ 107
9 6



=5 39 _ 107
0. 33 e 13—8; ~ 787108
=05 X 1075-(=8)
=0.5 X 105+8
=5x1071"x 103
5% 10713
5 X 102

The quotient is 5 X 102, or 500.

4.8 X 10° 4.8 106
51. = X
4 X 1072 4 1072

= 1.2 X100~ (2
=12 X106+2
=12 x 108

1.2 X 108, or 120,000,000, red blood cells are produced in
the human body per minute.

d 78X105 78 108
2= =3500 3 10

=26 X 10873
= 2.6 X 103

So. it takes 2.6 X 103, or 2600 seconds for sunlight to reach
Jupiter.




53. Rewrite (7 « 7)~% with a positive exponent to get
1
77 8=
( ) (7 +7)%
0is equal to 1, s0 (7 « 7)° = 1. And lastly, because (7 « 7)°
already has a positive exponent, (7 + 7)° > 1.
SO (7T« T)3<(T TV <(7 7).

< 1. A number raised to an exponent of



